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W Tl = &d abV,V, I~naid  . . . (4.62)

I

“3

w =e 3 ff_ d"

VX

"e

w =
P-V,-P,", \

e 3 . . .
1-U

. . . . . . . (4.63)

w = TX--T,e 3 I 1 R
x-1

. . . . . . . . . . (4.64)





























300
= 1000 -

500

= 600 J

1000 -600z-t-
500 300

= 0



1 2 4

( 4 . 9 2 )  LLWa  ( 4 . 9 3 )  7aKG

LIQa

i

. . . . . . . . . . . ( 4 . 9 4 )

- 4

dB,

T 6 O

. . . . . . . . . . . (4.95)

.I r ev

I









































1 4 4

1. 268 BTU

2.,4.08 BTU

3. 50 BTU, l&l?~llfi3~UU  (lW~l~w-~l~:aw  Q &&YII~JIU t)

4. 50 t37aaim7ii

5 . 240,000 fllairi

6. 50 BTU

7. 17.25%

8. 26,200 ~twhtd~

9. 2.92x10* kg-m

10. C" = a-tbp/T)

11. 5.1%

12. 1.63 kw

13. 300°K,  25%

14. 576.92 nlaet,  323.08 ;laiiY


